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QUESTION 1

Your customer is concerned about not having access to schedule orders and check availability when the Global Order
Promising server is down. Which two statements are true? (Choose two.) 

A. Affected orders can be rescheduled based on supply chain availability search after server recovery. 

B. Global Order Promising continues promising orders based on supply chain availability search until the server or
backup server can be restarted. 

C. Global Order Promising cannot continue promising orders, but the server or backup server is usually restarted
quickly. 

D. Affected orders cannot be rescheduled based on supply chain availability search after server recovery. 

E. Global Order Promising continues promising orders based on lead-time availability until the server or backup server
can be restarted. 

Correct Answer: AB 

 

 

QUESTION 2

How can split fulfillment lines in Order Management be managed independently? 

A. Split fulfillment lines can be managed independently because they are often being shipped from different
warehouses. 

B. Split fulfillment lines can be managed with an orchestration process instance that has been created for them. 

C. Split fulfillment lines cannot be managed independently. 

D. Split fulfillment lines can be managed independently because they have different attributes. 

Correct Answer: B 

 

QUESTION 3

You are using collaboration messaging to send an advanced shipment notice to a trading partner. You see an error with
the status "B2B Error." What does this status indicate? 

A. It indicates that collaboration messaging is not supported in Order Management. 

B. It indicates that the message has not been delivered because of a validation error in Collaboration Messaging
Framework. 

C. It indicates that the SOA suite could not deliver the message because of a configuration or processing error. 

D. It indicates that the message has not been processed because an administrator has put it on hold. 
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E. It indicates that the message has not been delivered because of a configuration or processing error in Collaboration
Messaging Framework. 

Correct Answer: E 

 

QUESTION 4

Your company is implementing Order Management Cloud to manage the sales orders but fulfillment happens through
third party logistics (3PL). 

What process should be executed to communicate to the 3PL system that the sales orders are ready to pick release
and ship? 

A. Manage Shipments Interface 

B. Create Shipments 

C. Confirm Shipments 

D. Generate Shipments Request 

E. Send Shipments Advice 

Correct Answer: D 

References: http://docs.oracle.com/cloud/latest/scmcs_gs/FAIMS/FAIMS1796462.htm#FAIMS2605728 

 

QUESTION 5

Identify the Order Management configuration setup that must be performed by a system administrator in order to define
an external source system connector. 

A. The source system needs to be called by using the web service from Cloud Order Management. 

B. The source systems link needs to be registered in Manage Web Service. 

C. The connector service needs to be registered by using Manage Web Service. 

D. The source system needs to be registered in Manage Web Service. 

Correct Answer: C 
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